Losungen , Weiterfiihrende Ubungen 2

1. Aufgabe
m=-1 m=1

a) b=5 b=2
9,(X)=—x+5 g,(X)=x+2

91(X) =9,(x)
~X+5=X+2+x-2 9,(15) =35

b S(153,5
) 3=2x2 Probe:g,(15) =35 (]’| )
Xx=15
o(olo
(( o) ) d=+(15-0) +(35-0)?
©) Sss d=38 LE
dz\/(xz _Xl)z +(yz _yl)z
2. Aufgabe
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m_yz -Y:
X2 = X1 y=m-x+b
b) m=3j 6=3.4+b-12 g,(x)=3x - 6
b=-6



c)

d)

1 1
=——-(-3)+Db-1 X)=—=X+4
5 (3)+h 9, ()=~
b=4
. 4-0
9,:S,(2) m=2-0
l_ (| ) 0-2 gs3(X)=-2x+4
9, :S,(04)=>b=4 M2
1
m, =—=
tan(o) m, = 3 m; =-2
an(a)=m
) tan*(3)=a, tanl(—EJ_az tan (- 2)=a,
tan~(m)=a 3
o, =716° ag =—-634°
o, =—18,4°
91(X)=9,(x)
3x—6=—%x+4+%x+6 9.(3)=3
L s(33)
10 ‘ 10 Probe:g,(3)=3
—x =10 —
3 3
Xx=3
73
m,-m,=-1
v y=m-x+b
M= 1 3 1
1 3==-3+b-— o(X)==x+15
b=15



95 (X) =0(x)

—2x+4=%x+l5—%X—4 9,()=2

Probe:o()=2
—25x=-25:(-25)

x=1

s(3j3) d=y-3) +(2-3)

s, (12) d=22 LE
dz\/(x2 —Xl)2 +(YZ _yl)z

3. Aufgabe
Gerade g;

tan(a) =m
tan(716°)=m
m=3

s,(08)
m=3

0,(x)=3x+8

Gerade g,

m, =m,
m, =3
m, =3
s, (4)

y=m-x+b
0=3-4+b-12 g,(x)=3x-12
b=-12

Orthogonale
m,-m, =-1

m; =3 51(0|8) ox) = _%X +e

m, =—§

d,(x) = 0(x)

3X_12=—1x+8+1x+12
3 3

g,(6)=6
10 ‘ 10 Probe:o(6) =6

S, (66)
—x=20
3

X=6

d=4(6-0) +(6-8)
d=63 LE




